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Question Number : 1 Question Id : 9662315813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAMNINOT be formed usirg the letters of the Ziverl wiord,

HARDSTAWE
Options:

1. % STRAW
2. ¥ WAVES
2. % DRAWT

4. % HARDS

Question Number : 1 Question Id : 9662315813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr oy Tt § € 9 Seg A0 ST 0 T sTeg o araR T WA S el a7 G gl

HARDSTAWE
Options:

1. % STRAW
= ¥ WAYVES
3. % DRAWT
4 % HARDS

Question Number : 2 Question Id : 9662315814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % 5H
2 % ]G
2% MM
4 ¥ GR

Question Number : 2 Question Id : 9662315814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 5H

2 % 10
3% NM



4. ¥ GR

Question Number : 3 Question Id : 9662315815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the odd letter [letters from the Ziven alternatives,

Options:

1. % HP]
2. ¥ WEX
= % REIT
4 % FSM

Question Number : 3 Question Id : 9662315815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % HP]
2. ¥ WEX
2% RET
4. % KEM

Question Number : 4 Question Id : 9662315816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg qQuestion, select the related letters from the given alternatives.

ME  JH: P& 7
Options:
1. % MY
2. % NZ
3. ¥ MK
4. % MY

Question Number : 4 Question Id : 9662315816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my Hewedt o & Heted el w1 giam

ME . JH :: PA ;7

Options:
1. % MY

2. % MNZ
3. ¥ MK
4. % NY

Question Number : 5 Question Id : 9662315817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, RIMP is written as ‘7832, 'LONG is written as "4851". What is the code for RING’
i1 that code language?

Options:

1. % 7812
= ¥ 7351
3% VBEZ2
4 % TE4E

Question Number : 5 Question Id : 9662315817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U AE w9 H RIMP 17552 FRTIETE, 'LONG F1 4651 FRIT IaT 81 50 FiE AT § ‘RING' &7 T &4 57

Options:

1. % 7812
2 ¥ 7851
3. % 7BE2

4 % 7346

Question Number : 6 Question Id : 9662315818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, KINDY is writtern as ‘26, 'LOVE' is written as '52°. What is the code for ‘HAT in
that code language?

Options:
1. % 29
2. % 31
=3 4T
4 % 37

Question Number : 6 Question Id : 9662315818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e #E 9 # CKIND' #1236 WEramT s, LOVE @152 W AaT 3] 59 Fi8 9T H ‘HAT &1 i 79T 57
Options:

1. 8 29

o %31

3. v 27

4 % 37

Question Number : 7 Question Id : 9662315819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&1 15 the brother of P. L is the mother of <. T is the son of P. P is the sister of . O is the sister of & How is O
related to PY

Options:

1. # Daughter
2. % Wwife

3. ¥ Sister

4. % Erother



Question Number : 7 Question Id : 9662315819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

QPFAEAL OF AR T, PETQTRFE, O HTET8 O, Q HT T 71 O, P & oy v Halferg 27
Options:

1. % gt

o % gEr

3. ¥ g
4. % 9

Question Number : 8 Question Id : 9662315820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statermnents to be true even if they seern to be at variance from comrmonly knowr
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

Staternents:
[. Some red are vellow.
II. All white are yellow.

Corclusion:

[. Some yellow are red.
II. Somme white are red.
III. e wehite 15 red.

Options:

1. % COnly conclusion IT follow

2. * Both conclusion II and III follow
2. ¥ Cnly conclusion 1 follow

4. % Meither Conclusion follow

Question Number : 8 Question Id : 9662315820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Ta Ty wer H g w3 ae I Sl O AT §F ey o Ty ) Ty T et T 6Rt 0, =@ 99 9 A
Feft & AT N adt Tt o ofly by frerfiv @ o Tam o @t & Tomars, oo o et o S1Tee o AT )

-
1. FF #Te Uiet B
I1. &t | oiet 3

e

1. % Uil &1 gl

I1. FF A AT o

I11. T The ATA A1 &l

Options:

1. % el Temerd 11 ST e #eaT gl

2 % g1 Ty 11 2T I SFeR @ 8l
3. et T 1 SIgER war gl

4 % g ot fomad ergeror 92 a8



Question Number : 9 Question Id : 9662315821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

37, 48,61, 78, 7
Options:
1.¥ 93
2. % 91
2% 495
4 % 97

Question Number : 9 Question Id : 9662315821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafea weg o 1 e e # 9 oF afw S H
37, 48,61, 7g, 7

Options:

1.9 93

2. % 91

3. % g5

4 % 97

Question Number : 10 Question Id : 9662315822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

l6:63::49:7
Options:
=T
2. % 36
3% 95
4 % 93

Question Number : 10 Question Id : 9662315822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 98

2. % BB
3. % 95
4 % 93

Question Number : 11 Question Id : 9662315823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev interchanging which two signs the equation will be correct?

12 x2+8+2-1=4dE
Options:

1. % +and -

2. % +and -

3% xand +

4 % wand +

Question Number : 11 Question Id : 9662315823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TorT o1 o @1 SITORT H TR Sg e O AT Al 5 AT
12 x=3+8+2-1=4E

Options:

1% + -

2 ¥ = e -

3% T s

4. % T+

Question Number : 12 Question Id : 9662315824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will e correct?

+and +

Options:

1. % 17+51 x9+3 =8

2 ¥ 12x3+4+1=10
2R E-4xE3+11 =23

4 % 11+24x72+ 36 =539

Question Number : 12 Question Id : 9662315824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ 17 +51=x9+2 =86

2 ¥ 12x3+4+1=10

2 RE-4dxE+11 =23

4 % 11424 =72 +36=59

Question Number : 13 Question Id : 9662315825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
giverl alternatives.

318
91712
6141
401 7 (22

Options:
1. % 42
Z % 13
3.9 28
4. % 24

Question Number : 13 Question Id : 9662315825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3|8
21712
6141
401 7 |22
Options:
1. % 42
= ® 18
3. ¥ 28
4. % 324

Question Number : 14 Question Id : 9662315826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If ™' means "=, ‘A" means -, P means "»’ and ‘B means '+, then 14N 27 FPE1IRE 11 431 =7
Options:

1. % 12

e

3% 24

4. % 18

Question Number : 14 Question Id : 9662315826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 12



o W oD
S % 24
4 ® 17

Question Number : 15 Question Id : 9662315827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

israndfather, Father, Daughter
Options:

Qo

©o

QO
O

eD

Question Number : 15 Question Id : 9662315827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Qo

©o

ra
®

W
i




O

O

Question Number : 16 Question Id : 9662315828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Raman ranks 8th from the top and 25th from the bottorm. How many students are there in his class?

o
B

Options:
1. % 34
2 % 386
3. % 20
4 & 32

Question Number : 16 Question Id : 9662315828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 324
=z % 38
3. % 20
4 ¥ 22

Question Number : 17 Question Id : 9662315829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following cube can be formed?

H
817169

2

Options:



Question Number : 17 Question Id : 9662315829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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H
8171619

2

Options:

,_.
B

2 & & &

o
b

Question Number : 18 Question Id : 9662315830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives

< %0 %0 0000
o o 0¢ 9 000
< ¢0 SO

Options:



09
00

o000
00
000

P
a

S0H
o0

L0040
000o
4 ® SO0

Question Number : 18 Question Id : 9662315830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

0090

000

Q90

S0
5 # |00

Q0O

oe0

000

0G0¢
4 % 000

Question Number : 19 Question Id : 9662315831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

@ @ || e @ 2
F ef||& IIF oo !

Options:

n

Question Number : 19 Question Id : 9662315831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
! <o
3 F e
A O

|
5 % L e
Lo ®
I
5 % LE -




Question Number : 20 Question Id : 9662315832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich answer figure will complete the pattern in the question figure?

:? ..J?

Options:

W
i

Question Number : 20 Question Id : 9662315832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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b_p’"
1 ®
N
o
A\
ey
ol
-....ﬁ‘J
4 ®
rereral Awareness
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Group Id: 96623185
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Revisit allowed for view? : No
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Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 9662315833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the festival of Nagaland?

Options:

1. ® Yaosang

2. % Mim Kut

3. % Ashokastarmi
4. % Durga Puja

Question Number : 21 Question Id : 9662315833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # & B a7 AR B R 87
Options:

1. % ZrarremT

2 ¥ T ge

% % et aredt

4. % g

Question Number : 22 Question Id : 9662315834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is located in Rajasthan?

Options:

1. # Taj Mahal
= % Red Fort

= % Jal Mahal

4. % Golconda Fort

Question Number : 22 Question Id : 9662315834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # 8 F a7 e § e g
Options:

1. % 9 Hga

2. % A Torer

3. ¥ o gl

4, ® TiAFET e

Question Number : 23 Question Id : 9662315835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pattadakal group of monuments are located in which state?

Options:

1. ¥ Karnataka

= % Punjab

3. % Madhva Pradesh



4. % Gujarat

Question Number : 23 Question Id : 9662315835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g CHRE qE T T | TR 27
Options:

1. ¢ Ffew

2 % o

Z % mEg e

4 ® TERIT

Question Number : 24 Question Id : 9662315836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pradhan Mantri Shram Yogi Maan-dhan Scheme announced in Interirn Budget 2019-20 is related to which of
these?

Options:

1. % Food

= ¥ Labour

2. % Education

4. % Subsidy

Question Number : 24 Question Id : 9662315836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @
2. ¥ 5y

. ® T
4 ® giEET

Question Number : 25 Question Id : 9662315837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Econormc Survey 2017-13 highlights that
Options:

1. % North Eastern

states hawve significant heterogeneity than other states.

2. % Southern
3. % MNorthern

4. % South Western

Question Number : 25 Question Id : 9662315837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T 2017-18 H gT T & ToF
Options:
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2. ® igeit
S ® e
4. % gl gt

Question Number : 26 Question Id : 9662315838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of hydrogen and oxvgen by moles in hvdrogen peroxide is

Options:
1.¥1:
= %1
3% 2
4. ® 3

| e L I =

Question Number : 26 Question Id : 9662315838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 1:
2 % 1
3% 2
4 % 3

= = [ =

Question Number : 27 Question Id : 9662315839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Among the following, what is the smallest unit of time?

Options:

1. # Millisecond
= % Microsecond
2. ¥ MNanosecond

4 * Second

Question Number : 27 Question Id : 9662315839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt & &, &1 gad P g e i
Options:

1. ® fheitees

2 ® OEwE®eE

3. ¥ AAraee

4 & ¥gE

Question Number : 28 Question Id : 9662315840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Morthern Plains are formed by

Options:

deposits.



1. % Sandy
2 % Alluvial
3. * Snowy

4. % Laterite

Question Number : 28 Question Id : 9662315840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Bt o mfor_____ Frd gwr ger @)
Options:

1. % g

2. ¢ T

3. % et

4 ® FEe

Question Number : 29 Question Id : 9662315841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % mgrag
o ® T

3. ¢ sangaEr
4. % wret

Question Number : 29 Question Id : 9662315841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some rivers emptying into sea have no deltas but instead, they have the shape of a gradually widening rmouth
cutting deep inland. 5uch a mouth 15 called

Options:

1. ® Gorge
= % Abvss
3. ¥ Estuary

4. % valley

Question Number : 30 Question Id : 9662315842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In farming the land is used for growing food and fodder crops and rearing livestock:,

Options:

1. % Primitive

2. % Cormmercial
3. # Subsistence
4. ¥ Mixed

Question Number : 30 Question Id : 9662315842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % amfem

2 ® gt
3. % Sife
4 T

Question Number : 31 Question Id : 9662315843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ was also known as Tetaji’.
Options:

1. # Aurobindo Ghosh

2. % Subhash Chandra Eose

3. % Mahatma Gandhi

4. % vallabhbhai Patel

Question Number : 31 Question Id : 9662315843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ AT & A AT AT FATaT 2m

Options:

1. % afeeram
2 o U Og d1
3. % mgrenT et
4 ® FEerTdTE uie

Question Number : 32 Question Id : 9662315844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Revolt of 1857 started from which city™?

Options:

1. % Meerut
2 % Awadh
3. % Calcutta
4. % Bombay

Question Number : 32 Question Id : 9662315844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1857 &7 [dgiy T J5¢ & & gaim am?
Options:

1. v WE

2. % ey

3. % el

4 % Fire



Question Number : 33 Question Id : 9662315845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ belongs to Pratihara Dynasty.

Options:

1. % Shah Jahan
2. ® Dharmapala
3. ¥ Mihir Bhoj
4. % Kanishka

Question Number : 33 Question Id : 9662315845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ WAER Ta 9 2
Options:

1. % gmg=gl
2. % e
3. ¢ Tifgr v
4 ® Fiwm

Question Number : 34 Question Id : 9662315846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eoth classical and folk dances owe their present popularity to national institution like

Options:
1. ¥ Sangest Matak Akaderni
2. # Sangest Sur Akaderr

3. % Nritva Akaderni

4. # Culture Acadery

Question Number : 34 Question Id : 9662315846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATEN ST AT Jod o= ol Id AT o Tep HadT T & _____ S U S w1 AT 8l

Options:

1. & Oriig Ae® SEEHT
2 % oriid g ampenr
3. ® Jog SIEeAr

4. % wegld sEreAt

Question Number : 35 Question Id : 9662315847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which organization developed the 'Faram Shivay' supercormputer in India’

Options:

1. % 1IT - Roorkes
2 ¥ C-DAC

3. # BARC

4 % [I5C



Question Number : 35 Question Id : 9662315847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ATET = aRd # e T g sy e e B

Options:

1. % 1IT- &=t
2 ¥ C-DAC
3. % BARC

4, % [I5C

Question Number : 36 Question Id : 9662315848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ is the Presiding Officer of Lok Sabha.

Options:

1. ¥ Speaker

2. % Prime Minister
3. * Vice President

4 % President

Question Number : 36 Question Id : 9662315848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T WATE I+ SITEeTer 51T 21

Options:

1.9 aregy

2. % geraEET
3. % FU-TEdi
4, % TR

Question Number : 37 Question Id : 9662315849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ is the Chairman of Election Corrission.

Options:

1. ¥ Chief Election Cormrmissioner
2. % Prime Minister

3. ® Chief Justice of India

4 #* Vire President

Question Number : 37 Question Id : 9662315849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ TerrfarT ST T Sreany 5197 21

Options:

1. & & THete s
2 ® geEEET

3. ¥ R FIET S



4, % JueTEdl

Question Number : 38 Question Id : 9662315850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn 1975, Emergency was declared for regdsorl.

Options:
1. % War

2. % Financial Crisis
2. ¥ Internal Disturbance

4 #% Health crisis

Question Number : 38 Question Id : 9662315850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1975 1§, A T AT T Oea [T T2 &M

Options:

1. % 43

2 ® T wwe
3. ¥ st st
4. ® Ty wwe

Question Number : 39 Question Id : 9662315851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was awarded with the Padma Ehushan in 2018 in the field of Sports-Cricket?

Options:

1. ® Ravindra Jadeja

2. % Virat Kohli

2. % Vijay Shankar

4 % Mahendra Singh Dhori

Question Number : 39 Question Id : 9662315851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
- Tordhe o 8§ 2018 H T @ & T s T e ane

Options:

1. % veffg Fi2=r
2, % T FIgHT
2 ® e g

4. v wE= Wig T

Question Number : 40 Question Id : 9662315852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Winter Glyimpics 2015 were held in which country?

Options:
1. % australia
2 % South Korea



2. % Japan

4 % France

Question Number : 40 Question Id : 9662315852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T d® 2018 g 2o o smaii=e o mr e

Options:

1. % a@ﬁ?ﬂ”

2. & Zigor e

3. % AmE

4. % m

Arithrnetic Ability

Group Number : 3

Group Id: 96623186

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability

Section Id : 966231201
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 966231213
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662315853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the value of: (40 + 22)? + (40 — 22)?

Options:



1. % 3844
2. ¥ 4168
3. % 1296
4. % 5784

Question Number : 41 Question Id : 9662315853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(40 + 22)* + (40 — 22)* m7 AT F4T gm

Options:

1. %® 2844
= ¥ 4168
3% 1296
4 % 5764

Question Number : 42 Question Id : 9662315854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the difference between Least Corrmon Multiple and Highest Common Factor of 1235 and 5/287

Options:

1. ® 35/288
2 % 1000)21
% 1199/140

4. % 507

Question Number : 42 Question Id : 9662315854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1235 TU1 5/ 28 & Ay QAT T97 Agad GHIUE & & el H1 Sa¢ 7 27

Options:

1. ® 35/288
= % 1000)21
3.9 1199/140
4 % 807

Question Number : 43 Question Id : 9662315855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

' 256 189 51 142 426
What is the value of: T+—><———+—

8l 21 36 &4

Options:



Question Number : 43 Question Id : 9662315855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

256 189 51 142 426
—_— X -

o T81 21 36 ~ga PN W F g

Options:
3
1 # 100

100
2 3

Question Number : 44 Question Id : 9662315856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the average of first 7 whole numbers?

Options:
1.%1
= W3
3% 4
4 % 325

Question Number : 44 Question Id : 9662315856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR 7 Ui T SitEd T 87

Options:
1.%1
2 ¥ 3
3% 4
4 % 35

Question Number : 45 Question Id : 9662315857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A seller gives three successive discounts of 10%, Z0% and x% on an article. If the net discount is 49 6%, then
what is the value of =7

Options:

1. % 25 percent
2. % 2B percent
2. ¥ 20 percent

4. % 32 percent

Question Number : 45 Question Id : 9662315857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ek ek T e g U 10%, 20% T x% %1 17 wiHE g2 4aT 81 Al ad g 49.6% 2, 1 x &1 A &7 27

Options:

1. % o5 afdeT
o % 28 uide
= ¥ Z0uEeaT
4. % 32 uideT

Question Number : 46 Question Id : 9662315858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the number of employees in an office is reduced by 80%, then it becornes 132, What was the initial total
nurnber of employees

Options:

1.9 E80
2. % 500
= % 500

4. % 550

Question Number : 46 Question Id : 9662315858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e U gAY § FHATT 6 TET S0% S FHET AT 8, 91 9% 132 BT AT 81 JFTT H Fol FHATNAT T HE2T 77 217
Options:

1. ¥ G660

2. % B00

3. % 500

4 % 550

Question Number : 47 Question Id : 9662315859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The walue of a land depreciates by 20% every yvear. If after two years the value of land is Rs. 22,000, then what
was 15 initial value?

Options:
1. % Es. 40000
2. % Rz 45000

3. % Rs. 50000



4. % K5 55000

Question Number : 47 Question Id : 9662315859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T STHI BT T Wi e 20% & H FET 81 I ST e W S T ged 32000 T g, 9T JETT § SEwT ge 34T a7

Options:

1. % 40000 #o
2. % 45000 70
= ¥ 50000 T
4, % 55000 T

Question Number : 48 Question Id : 9662315860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Maxirnum marks of three subjects in an exam are in ratio 1 : 2 ; 2. If a student got 60%, 60% and 40% marks
respectively, in the three subjects, then what 15 Nis average percentage?

Options:

1. % S0 percent
2. % LB percent
2. % LB percent

4. % G0 percent

Question Number : 48 Question Id : 9662315860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A7 gt & arféeram el 12 20 3 & argue # B At g w17 19 ot f @wsn 60%, 60% T 40% =i UTH 9747 5, F7 TEHT
e wida F4r 87

Options:
1. % SofdaT

o % of oidag
3 ® o uldad
4 % gouldag

Question Number : 49 Question Id : 9662315861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

©On selling an article for Bs. 910, 40% profit is earned. If the article is sold at Es. 617.5, then what will the 1055
PETCENTAZET

Options:

1. % S percent

2. % § percent

3. % 10 percent

4 % 11.11 percent

Question Number : 49 Question Id : 9662315861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Seq 1 310 T T e U 40% T AT T T 21 T1E 0%, #6175 T 1 &l A1, T 5T Wi 2 &7 57

Options:



1. ¢ S uidae
2. % e
3 % 10udeaT
4 % 11.11 nfdsm

Question Number : 50 Question Id : 9662315862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa: b =45 then what is the value of a2 b/37

Options:
1. % 5
2. ¥ G
3% 3
4 % 2

LN B L ) I 4

Question Number : 50 Question Id : 9662315862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qiga b=4:5% dra/2 b3 FAFFATE?

Options:
1. %5
= ¥ B
3% 3
4. ® 2

Lyl e

Question Number : 51 Question Id : 9662315863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An amount of Rs. 2520 is divided among &, E and C. A and E received amount in the ratic of 3. 4. Eand C
received the amount in the ratio of 5 : 7. What is the share of A7

Options:

1. ¥ Rs. 780
2. % Rs. 340
3. ¥ Rs 720

4. % Rz 600

Question Number : 51 Question Id : 9662315863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 2520 T RN BT A, ETNC F AT AT A TME W 3 4 F AU AU BT E TMC FHTE: 7 F agaa |
T THAT 31 A o7 ooy T 27

Options:
1. ® 750 w0y

o ¥ g40 w0
3. ¥ 720 w0
4 ® g0 FEr

Question Number : 52 Question Id : 9662315864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ifa+D: b+ ic+a)=58:5:7anda+b+c = 20, then what is the value of b?

Options:
1.v¥ &
2. % 4
2% 10
4 % g

Question Number : 52 Question Id : 9662315864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AE@+b: b+ c+a)=8:5:7aFMa+b+c=20% ITb AR FATE?

Options:
1.v¥ 6
2. % 4
2% 10
4 % g

Question Number : 53 Question Id : 9662315865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the simple interest on a sum of Es. 600 for three years is Rs. 360, then what is the rate of interest per
annumn?

Options:

1. % 15 percent
2. % 10 percent
3. ¥ 20 percent
4. % 15 percent

Question Number : 53 Question Id : 9662315865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
It Ua 600 T T I 0 T 9T BT AT s 260 T 5, F1 0T oY ST 3¢ F7 27

Options:

1. % 15 ufdeT
= % 10 uide
3. ¥ condaT
4. % 18 nidea

Question Number : 54 Question Id : 9662315866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& boat takes 7 hours to travel 63 kmn downstream and it takes 7 hours to travel 35 kan upstream. What is the
ratio of speed of boat in still water and speed of current?

Options:
1. % &
2. W 2
3 %5
4 & 7

| R L B R



Question Number : 54 Question Id : 9662315866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AT U & 63 T Al 7 ae o ik & o 99 odt § T S AR &1 Ael o I 35 WAL aa e ' 7 O @ Al
TR T H STar T TR T ST T S @ 87

Options:
1. % &
20w 2
3% 5
4.9 7

| I L B R

Question Number : 55 Question Id : 9662315867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
25 cows Can eat 200 kg grass in 20 days. How many cows can eat 900 kg grass in 45 days?

Options:
1. % 40
2 % 75
3. ¥ 50
4 % G0

Question Number : 55 Question Id : 9662315867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T 200 TEan ' 20 m o | awdt 31 et w45 B # 900 TR e @1 awdt 87

Options:
1. % 40
2. % 75
3. ¥ E0
4. % G0

Question Number : 56 Question Id : 9662315868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Disha can do a piece of work in 20 days. Nisha is 25% more efficient than Disha. How many days will they
both take together to complete the work?

Options:

1. % 210119 days
2. % 59/9days
3. ¥ B0[9days
4 % 23/9days

Question Number : 56 Question Id : 9662315868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U @ @1 20 T o o Fa T 81 i, far & 25% arferer wdgrad g1 SH aw e @ @@ @ | T T ate
Options:

1. % 210/19 %+



> % ggjotaq
. ¥ 30/9 e
4 ® s3/9f4

Question Number : 57 Question Id : 9662315869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If length of the diagonal of the face of a cube is 10 Crm, then what is the total surface area of the cube?

Options:
250 cm®

1 =%

2
o 300 cm

5 # 125cm®

4% 150 cm?

Question Number : 57 Question Id : 9662315869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Uk O & e oF [0l ol dele 10 FHAT 8, T7 O & Fel 8IS Sk T4 57

Options:

. » 300F.F:

% 125 W A3

=

. % 150FH2

Question Number : 58 Question Id : 9662315870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

If the volume of a cube is 128v2cm?® then what is the length of the diagonal of
the face of cube?

Options:
1. % 3cm

2 % gom

3 % 6v2

ZIT1

4 % 120m



Question Number : 58 Question Id : 9662315870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ife Tk U T HOGH 1282 B A2 &, aF 99 & B & [9ehor &r

Options:
1. g &

> ® goor

3 % 6V2 4
4. ® 1290

Question Number : 59 Question Id : 9662315871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chiart given below shows the nurmber of boxes manufacturad by a Cormparny in various months. The
boxes manufactured are showrl as a percentage of total boxes manufactured by company.

-

e
/ Ms, | M1 N\
/o20% | 20% O\
| ]

f S " 1

| M, A
20% M2

N /M3,
g (. 10% /

If the total boxes manufactured by company is 00, then the number of boxes manufactured in month M37

Options:
1. % 280

2. % 320
2. ¥ 360
4. % 400

Question Number : 59 Question Id : 9662315871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tar T g7 o H Uw T g g AfgAt § e T e T o S T 81 99 T et T ET e Ty
ol TEeell o WIGad & &0 | i< T 3

e FAT ZRT o410 T Fe Eeel 3600 8, T M3 Ao H S0 T TEed! T FE47 7247 27



Options:

1. % 280
2. % 320
3. ¥ 360
4. % 400

Question Number : 60 Question Id : 9662315872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of emplovyess working in a factory in various vears.

3000 - 2600
2500 - -

2000 1 .05 1600

1500 -
1
1000 - =
500 - H
0 O
¥1 Y2

Year

2400

Num ber of e ploy ces

Y3 Y4 Yo

Ev the number of emplovees working in year ¥1 is how much percentage less than the number of employees
working in year Y57

Options:

1. % 125 percent
2. % 2T percent
= ¥ 37.5 percent
4. % 50 percent

Question Number : 60 Question Id : 9662315872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et fer T 2rE T | i aut | v et § @ 9 e et o ST S ST T )

3000 -
2600
E 2500 - 2400
g fg% 1500 1600
T 1 1000
500 F
0 .

Y1 Y2 Y2 Y4 X5
£

Y1 au H FT F AT FHATCA! o A, Y5 a4 H W e a1 Rl s aeed 7 T Al w0 87
Options:

1. % 125 uided

2. % 25 uide

3. ¥ 375 uideT

4 ® ool



eneral English

Group Number : 4
Group Id : 96623187
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English

Section Id : 966231202

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231214
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662315873 Question Type: MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

Time makes (1) | the worse (2) | enerries friends (3) [ No error (4)
Options:
1.%1
= W2
3% 3
4 % 4

Question Number : 61 Question Id : 9662315873 Question Type: MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Time makes (1) | the worse (2) | enemies friends (2 [, Mo error ()
Options:



1. %1
e
3 % 3
4 # 4

Question Number : 62 Question Id : 9662315874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose 3 sentence that contains an error.

Options:

1. # 5She did not go to the school today

2. % aphdul called his cousin a fool

2. ¥ A thunderstorm often turn milk sour

4. % The architect drew a plan for the house

Question Number : 62 Question Id : 9662315874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose 3 sentence that contains an error.

Options:

1. % She did not go to the school today

2. % Abdul called his cousin a fool

= % A thunderstorm often turn milk sour

4. % The architect drew a plan for the house

Question Number : 63 Question Id : 9662315875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Zut your coat according (n) your cloth.
Options:
1.9 to

= #® yith
2 % on

4. % No improvernent

Question Number : 63 Question Id : 9662315875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Improve the bracketed part of the sentence.

Cut your coat according qn) your cloth.
Options:
1. ¥ to

= % with
2 % on

4, % Mo improvernent



Question Number : 64 Question Id : 9662315876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

Only a man with (ess) of money buys a car of such beauty and poweer,
Options:

1. % faw

2. % some

3. ¥ plenty

4. % IMNoimprovernent

Question Number : 64 Question Id : 9662315876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Only a man with (less) of money buys a car of such beauty and poweer.
Options:

1. % few

2. % some

I ¥ plenty

4. % MNoimprovernent

Question Number : 65 Question Id : 9662315877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She stood on the bridge
Options:

1. % on

2. ¥ at

2% with

4 % to

midnight.

Question Number : 65 Question Id : 9662315877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

She stood on the bridge
Options:
1. % on

2 % at
= % yith

4 % to

midnight.

Question Number : 66 Question Id : 9662315878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: hard work

2 Mobody must

E: rich wathout

5 Expact to [ol=lala) gy =

Options:

1. ¥ OSEP
2. % QRPS
= % PORS
4 % ROSP

Question Number : 66 Question Id : 9662315878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: hard work

2 Mobody must

E: rich wathout

5 Expact to [ol=lala) gy =

Options:

1. ¥ QSEP
2. % QRPS
2. % PORS
4 % ROSP

Question Number : 67 Question Id : 9662315879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them doesn’t make a synonym-antonyr pair?

Options:

1. * Frivolous - Solermn
2. ® Chaste - Dirty

2. ¥ Elation - Ecstasy

4. % Devilish - Angelic

Question Number : 67 Question Id : 9662315879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them doesn’t make a synonyImn-antonyn pair?

Options:

1. * Frivolous - Solermm
2. % Chaste - Dirty

2. ¥ Elation - Ecstasy
4 % Devwilish - Angelic

Question Number : 68 Question Id : 9662315880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Murndane
Options:

1. % Earthly
2. ¥ Exciting
2. ® Banal

4. % Humdrum

Question Number : 68 Question Id : 9662315880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

MMundarne
Options:

1. * Earthly
2. ¥ Exciting
2. % Banal

4. % Humdrum

Question Number : 69 Question Id : 9662315881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:

1. ¥ MNuisance
2. % Wednusday
. % Frieght

4. % Gaurgeous

Question Number : 69 Question Id : 9662315881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % MNuisance
2. % Wednusday
= % Frieght

4. ® Gaurgeous

Question Number : 70 Question Id : 9662315882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
Wl

Options:



1. ® Aedjacent
= ¥ Adjacent
3. * Adjasent
4. % Adajacent

Question Number : 70 Question Id : 9662315882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. % Aedjacent
2. ¥ adjacent
3. % Adjasent
4. % adajacent

Question Number : 71 Question Id : 9662315883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ¥ Controversy
2. % Controversie
3. # Kontrovercy

4. % Crentreversy

Question Number : 71 Question Id : 9662315883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Controversy
Z % Controversie
3. ® Kontrovercy

4. % Crentreversy

Question Number : 72 Question Id : 9662315884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best suitable option.

They had
Options:
1. * o give the devil its due

whern they could riot qualify in the quarters.

2. % toend in smoke
2. ¥ to bite the dust

4 % to feel free to



Question Number : 72 Question Id : 9662315884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best suitable option.

They had
Options:
1. # to give the devil its due

______ when they could not qualify in the quarters.

2. % toend in srmoke
= % to bite the dust
4 % o feo] free 1o

Question Number : 73 Question Id : 9662315885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom {Phrase.

To see eve to eye
Options:

1. % Mot to agree

Z % Mot to hesitate

2. # Tired of something

4. % In a sudden wave of anger

Question Number : 73 Question Id : 9662315885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom /Phrase.

To see eye to eye
Options:

1. % Not to agree

2. % Mot to hesitate

2. % Tired of something

4. ® In a sudden wave of anger

Question Number : 74 Question Id : 9662315886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
hoose the word that can substitute the given sentence.

& written declaration made on cath in the presence of a magistrate.
Options:

1. ® Fingerpost

2. % Shelter

3. ¥ Affidavit

4. % Catalogue



Question Number : 74 Question Id : 9662315886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A written declaration made on oath in the presence of a magistrate.
Options:

1. % Fingerpost

2. % Shelter

2. ¥ Affidavit

4 % Catalogue

Question Number : 75 Question Id : 9662315887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

Sormething unusual or strange
Options:

1. ¥ Whimsical

2. % Articulate

Z. % Egocentric

4. % Incredible

Question Number : 75 Question Id : 9662315887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Sormething unusual or strange
Options:

1. % Whirnsical

= % Articulate

3. # Egocentric

4. % Incredible

Sub-Section Number: 2
Sub-Section 1d: 966231215
Question Shuffling Allowed : Yes

Question Id : 9662315888 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions.

Paul Robin Krugman is an American econormist who is Distinguished Professor of Econormics at the Graduate
Center of the City University of New “ork and a columnist for The New York Times. In 2008, Krugman was
awarded the MNobel Memorial Prize in Econormic Sciences for his contributions to MNew Trade Theory and New
Econormic Geography. The Prize Cormrmittee cited Krugman's work explaining the patterns of international trade
and the geographic distribution of economic activity, by examining the effects of economies of scale and of
consumer preferences for diverse goods and services. Krugman was previously a professor of economics at
MIT, and later at Princeton University. He retired from Princeton in June 2015 and helds the title of professor
ermeritus there. He also holds the title of Centenary Professor at the London School of Economics. Krugman
was President of the Eastern Economic Association in 2010 and is among the most influential eConomists in
the world. He is known in acadermia for his work: on international economics (including trade theory and
international finance), economic geography, liquidity traps, and currency crises.

Krugmarn is the author or editor of 27 books, including scholarly works, textbooks, and books for a more
general audience, and has published over 200 scholarly articles in professional journals and edited wolurnes.
He has also writtenl several hundred columns on econormic and political issues for The New Yorlk Times,
Fortune and Slate. A 2011 survey of econormics professors named him their favourite living economist under
the age of 60. AS a cormmentator, Krugman has written on a wide range of economic issues including income
distribution, taxation, macroeconornics, and international eCconorrics.

Sub questions

Question Number : 76 Question Id : 9662315889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of them is associated with Paul?

Options:

1. % He retired from Princeton in June 2014

2. % He was President of the Eastern Economic Association in 2010
2. % Krugman is the author or editor of 25 books

4. % Do option is correct

Question Number : 77 Question Id : 9662315890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why was he awarded the Nobel Mermorial Prize in Econormic Sciences in 20087

Options:

1. * for his contribution to MNew Trade Theory

2. % for his contribution to New Economic Geography
2 ¥ bhothaand b

4. % no option 15 Correct

Question Number : 78 Question Id : 9662315891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of therm is not associated with Paul?

Options:

1. % American econonist

2. % Distinguished Professor of Econormics
2. % a columnist for The MNew York Times

4. % no option is correct

Question Number : 79 Question Id : 9662315892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Wwhere does he hold the title of Centenary Professor?

Options:
1. % At MIT

2. % At Princeton University
3. % At the London School of BEcornornics
4. % Al of the abowe

Question Number : 80 Question Id : 9662315893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of them is opposite in meaning to diverse?

Options:

1. % Assorted
2. % Divergent
2. % Distinct
4. % [dentical

Question Id : 9662315888 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions.

Paul Robin Krugman is an American econormist who is Distinguished Professor of Economics at the Graduate
Center of the City University of New York and a columnist for The New York Times. In 2008, Krugman was
awarded the MNobel Memorial Prize in Economic Sciences for his contributions to New Trade Theory and MNews
Econormic Geography. The Prize Comrmittee cited Krugman's work explaining the patterns of international trade
and the geographic distribution of economic activity, by examining the effects of econormies of scale and of
consumer preferences for diverse goods and services. Krugman was previously a professor of economics at
MIT, and later at Princeton University. He retired from Princeton in June 2015 and holds the title of professor
ermeritus there. He also holds the title of Centenary Professor at the London School of Economics. Krugman
was President of the Eastern Econormnic Association in 2010 and is among the most influential economists in
the world. He is known in acadermia for his work on international economics (including trade theory and
international finance), economic geography, liquidity traps, and currency Crises.

Krugman is the author or editor of 27 books, including scholarly works, textbooks, and books for a more
general audience, and has published owver 200 scholarly articles in professional journals and edited volurmes.
He has also written several hundred columns on econormic and political issues for The MNew York Times,
Fortune and Slate. & 2011 survey of economics professors named him their favourite living economist under
the age of 60. A5 a cormmentator, Krugman has written on a wide range of economic issues including income
distribution, taxation, macroeconormucs, and international eConorrics.

Sub questions

Question Number : 76 Question Id : 9662315889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of them is associated with Paul?

Options:

1. # He retired from Princeton in June 2014

2. % He was President of the Eastern EConormic Association in 2010
2. % Krugman is the author or editor of 25 books

4. % INo option is correct



Question Number : 77 Question Id : 9662315890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why was he awarded the Nobel Mernorial Prize in Econormic SCiences in 200587

Options:

1. # for his contribution to New Trade Theory

2. % for his contribution to Mew Economic Geography
2. ¥ bothaandb

4 % no Option 15 Correct

Question Number : 78 Question Id : 9662315891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of therm is not associated with Paul?

Options:

1. ® American economist

2. % Distinguished Professor of Economics
3. % 3 columnist for The New Vork Times

4. % no option is correct

Question Number : 79 Question Id : 9662315892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhere does he hold the title of Centenary Professor?

Options:

1. % At MIT

2. % At Princeton University

3. ¥ At the London School of Bconormics

4 # il of the above

Question Number : 80 Question Id : 9662315893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of them is opposite in meaning to diverse?

Options:

1. % Assorted
2. % Divergent
2 % Distinct
4. ¥ Identical
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Question Number : 81 Question Id : 9662315894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET # & ey a=g @7 gier e meg 87
Options:

1. ¥ fuguear = o + 3udar

o R Mg =0+3F

3 % BfE =T+ &

4. ® T = 7T + F9T

Question Number : 81 Question Id : 9662315894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # o T geg @1 97e oede T 27

Options:

1. ¢ figudar = fuf + Judar
2 ¥ Mg =U+3%

3 % i =+

4 ® TaET = 9T + FaT

Question Number : 82 Question Id : 9662315895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TramET # & B |7 saihaed T 57

Options:
1. % Ei@‘cﬁ.

o, o Ay

3. % e



4. ® EEme

Question Number : 82 Question Id : 9662315895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEAET # 9 ® 9F shaTa® 9 87
Options:

1. % F=d

o, ¥ AT

3. % T

4. ® g

Question Number : 83 Question Id : 9662315896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =Terer # TR U T |l AT ST d e

FIT AT IET 21
Options:

1. ¥ oo
o % T aamEE
3. ¥ T

4. ® ieaarEE

Question Number : 83 Question Id : 9662315896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T e # T wa @ AT A S

FITATET 2
Options:

1. ® oo
2. ® TrAamEE
3. ¥ YT

4, ¥ fsaaEE

Question Number : 84 Question Id : 9662315897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prfaad f & w1 a7 ge e 79t 27
Options:

1. % forgamHr

2. % e

3. % T

4. & T

Question Number : 84 Question Id : 9662315897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TR # & T 97 Seg, T 51 87



Options:

1. % feRgamr
= e

3. % e
4. % T

Question Number : 85 Question Id : 9662315898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 wegt & wafaawd geg #1 agam it

AT, WITEAT 3T T
Options:

1. % &4t

= % T

3. ¥ g

4. % T

Question Number : 85 Question Id : 9662315898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tam iy st F viaaTE geg & ugE i

TS, TR 2 qagT
Options:

1. % Zdr

2 % e

2. ¥ gt

4. ® T

Question Number : 86 Question Id : 9662315899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te T A # ol v ET i e

FATET 2T T ______ T H S7feaT o wEa fe=m
Options:

1. ¥ gNEs

2. % PHNEE

3. ¥ TTRraw

4 % &g

Question Number : 86 Question Id : 9662315899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam i e # Tk T 7 gfE
FATET 2T T ______ T # affeaT = |ganT faam
Options:

1. ® gnEs



E.QEITITIEI'IF
= & ™
4 % g

Question Number : 87 Question Id : 9662315900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeaT # 9 a0 geg @1 @19 a1 I/ gl 11 o7
Options:

1. ® arferr - aed

o % TAW - BEA

3. ¥ T - TR

4 % gy - T

Question Number : 87 Question Id : 9662315900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRl 8 € fdam geg @71 o1 a1 J/1 951 Tl o7

Options:

1. % arfeep - afem
2. % HEW - FHA
3. ¥ R - U
4 ® geg- 1

Question Number : 88 Question Id : 9662315901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty e & TR U IR g 1 2 diram

AT T&T cd o HTH HA
Options:

1. ¢ ardaier

2 ® ey

3. % g

4 % FEmTHT

Question Number : 88 Question Id : 9662315901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T =T 3 TR0 U IR SR T I die

AT TeAT o & FTH &)
Options:

1. ¢ adaiew

2 % gy

3. ® e

4 % FamTAT



Question Number : 89 Question Id : 9662315902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaT T AT & w0 T uge

ST g T TR
Options:

1. % HTIOT STer
2 % ggm g
3. ® iy A

4. ® JugErd

Question Number : 89 Question Id : 9662315902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =T 3 0 T mEEe

CIECECIEIETRTIN
Options:

1. % STOT e
2 % ggm aEg
3. % o

4. % JUILFd

Question Number : 90 Question Id : 9662315903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e

Options:
1. %W
2 o @r
3%
4 % 7

Question Number : 90 Question Id : 9662315903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty AT | Tk wT T gid R

Options:
1. ¥ 0@
o o 3
3. % @
4 %7

Question Number : 91 Question Id : 9662315904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tem T e =T sTgare A1 1

e
Options:

1. ¥ frarra
2. % Qe
3. ® fpamdg
4 ¥ FUF

Question Number : 91 Question Id : 9662315904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I ST, T gee AT S

T
Options:

1. % e
2. ® Qe
3. % fpards
4. & FuF

Question Number : 92 Question Id : 9662315905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
32T E o WA & AR U i

Options:
1. % Ja@T
o %
3. TeRT
4 %90

Question Number : 92 Question Id : 9662315905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Y o W & AT g i

Options:
1. % @7
o % mT
3. ® e
4 % g0

Question Number : 93 Question Id : 9662315906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

HTTEd 17 T 91



Options:

1. & eREeT et
o, ® Jgmer wr
3. % i T

4. % gy e

Question Number : 93 Question Id : 9662315906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefET g # fau o = Rt § 4 79 e &1 = & S iy mr gere & anf #1 wdie w0 & oo Fear 8

AT & |
Options:

1. & e =t
2. % Foet ar
3. % i O

4 % gigyegEr

Question Number : 94 Question Id : 9662315907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oI T ST T AR T AT T T = S )

TATHT § T = g

Options:

1. % 1o mer S W

2 ® HElE g St @ g A
2. ¥ W | g9 Al

4. % U@ I ggreEe

Question Number : 94 Question Id : 9662315907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT I =TTerr 1 |l AT 1T T =T i)

TATHT § T 2 2

Options:

1. % gwmral

2. % HE!F g At @ A5l A
. ¥ W | gE RS

4. % ST F LW g

Question Number : 95 Question Id : 9662315908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

M= T TaeraTieates &1 Fiwy adt aeat & o # @19 91 Fig vgw T 87
Options:

1. oof TR

2 % anef o



3. ¥ g
4, ¥ T &g

Question Number : 95 Question Id : 9662315908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 966231217
Question Shuffling Allowed : Yes

Question Id : 9662315909 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
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Question Number : 98 Question Id : 9662315912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 9662315909 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (96 to 100)
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Revisit allowed for edit? :
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Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 101 Question Id : 9662315915 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

An 'orphan drug’ is:
Options:
; = averycheap drug.

- % adrug which has no therapeutic use.

3

4 w adrug which acts on orphan in receptors.

6
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Disciplinel
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Online
Mandatory
20

20

20

Yes

No

1
966231218
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes

» adrug needed for treatment or prevention of a rare disease.

Question Number : 101 Question Id : 9662315915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 9662315916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Ames test is a method for detecting:
Options:

¢ Ccarcinogenesis ln primates

DR

- u teratogenesis in any mammalian species

5 % teratogenesis in primates

4  Dutagenesis in bacteria

Question Number : 102 Question Id : 9662315916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 9662315917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A highly ionized drug:

Options:



| « s excreted mainly by the kidneys

- % cancross the placental barrier easily

= % is well absorbed from the intestines

4 = accumulates in cellular liquids

Question Number : 103 Question Id : 9662315917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662315918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following drugs is obtained from genetic engineering?

Options:
1 # Kaolin

-~ » Heparin

5 % Aspirin

4 + Human insulin

Question Number : 104 Question Id : 9662315918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question 1d : 9662315919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Compared to subcutaneous injection, the intramuscular injection of drugs:
Options:

; % Ismore painful

-  produces faster response

= % Isunsuitable for depot preparations

4 = carries greater risk of an anaphylactic reaction

Question Number : 105 Question Id : 9662315919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question 1d : 9662315920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Causes for reduced bioavailability include:

Options:



, « leduced absorption

- % increased absorption

- » high lipid solubility

4 # non-ionization

Question Number : 106 Question Id : 9662315920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FH T 39eUdl & FRUT H AT 2

Options:

| HIAEOT H FHY

, Hawor F giE

g

3=9 = A () gesefear

4 % IT-HTTEIOT

Question Number : 107 Question 1d : 9662315921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Most dmg receptors are:
Options:

; = small molecules with molecular weight between 100 and 1000

- % lipids arranged in a bilayer configuration

5  proteins located on cell membranes or in the cytosol

4 % DNA molecules

Question Number : 107 Question Id : 9662315921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 9662315922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where are drug receptors in a cell located?

Options:
1 « Plasma membrane

- = Cytoplasm

z # Nucleus

4 % Mitochondria

Question Number : 108 Question Id : 9662315922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 9662315923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which mechanism is most often responsible for chemical degradation?

Options:



1 % Racemization

- = Photolysis

5  Hydrolysis

4 = Decarboxylation

Question Number : 109 Question Id : 9662315923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 9662315924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the term ‘bioavailability” mean?

Options:

, w» Plasma protein binding degree of a substance

- u Permeability through the brain-blood barrier

-  Percentage of administered dose that reaches systemic circulation in the unchanged form

4 % Amount of a substance in urine relative to the initial dose

Question Number : 110 Question 1d : 9662315924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 9662315925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The clearance of the drug means:
Options:

, « Volume of plasma which is cleared of a drug per unit time

> % amount of drug excreted in urine

- » amount of drug metabolized in unit of time

4 % amount of drug not excreted in urine

Question Number : 111 Question Id : 9662315925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662315926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Biotransformation of the drugs is to render them:



Options:
1 % less ionized

- u more pharmacologically active

5 » more lipid soluble

i o less lipid soluble

Question Number : 112 Question Id : 9662315926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question 1d : 9662315927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The renal clearance of insulin is used as a measurement of:
Options:

, = Trate of renal drug excretion

- u Intrinsic enzyme activity

= % active renal secretion

i Glomerular Filtration Rate (GFR)

Question Number : 113 Question Id : 9662315927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 9662315928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following organs contains the enzyme system for drug metabolism?
Options:

1 W Liver

- % Heart

- » Kidneys

4 % Lungs

Question Number : 114 Question Id : 9662315928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 9662315929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a second messenger?



Options:
; = Cyclic AMP

-  Guanylyl cyclase

5 » Diacylglycerol

4 = Inositol trisphosphate

Question Number : 115 Question 1d : 9662315929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 9662315930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the difference between ‘addiction’ and ‘habituation®?
Options:

; w They are fundamentally different phenomena.

> % They are produced by different sets of drugs/substances.

- » [Ihey differ from one another by the presence or absence of physical dependence.

4 « They differ from each other in the degree of attendant psychological dependence.

Question Number : 116 Question Id : 9662315930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 9662315931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following secretions is NOT stimulated by acetylcholine?

Options:
1 % Tears

e BRile

- w Pancreatic juice

4 % Sweat

Question Number : 117 Question 1d : 9662315931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 9662315932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tachyphylaxis is:

Options:



, w adrug interaction between two similar types of drugs
- « Vvery rapidly developing tolerance

- » adecrease in the responsiveness to a drug. taking days or weeks to develop

4 % anincrease in the responsiveness to a drug, taking days or weeks to develop

Question Number : 118 Question Id ;: 9662315932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 9662315933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is correct about a prodrug?
Options:

, = The prototype member of a class of drugs

-~ # TIhe oldest member of a class of drugs

5 A inactive drug that is transformed in the body to an active metabolite

4 # Adrug that is stored in body tissues and then gradually released in the circulation

Question Number : 119 Question Id : 9662315933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662315934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true in relation to ‘drug toxicity’ and ‘poisoning™?

Options:
1 ® Both the terms are Synonymous.

» % When a toxic effect requires specific treatment, it is called poisoning.

-  Atoxic effect which endangers life by markedly affecting vital functions is called poisoning.

4 % Toxicity is caused by drugs while poisoning is caused by other harmful chemicals.

Question Number : 120 Question Id : 9662315934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Id : 96623190

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinez
Section Id : 966231205
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9662315935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EDsy is used for determining:
Options:

| « botency

- u efficacy

5 # safety

4 = toxicity

Question Number : 121 Question Id : 9662315935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 9662315936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a mechanism of the action of local anaesthetics?
Options:

, = Blocking calcium ion channels to prevent depolarisation

-  Blocking sodium ion channels to prevent depolarisation

5 » Blocking potassium ion channels to prevent depolarisation

4 = Blocking magnesium ion channels to prevent depolarisation

Question Number : 122 Question 1d : 9662315936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 9662315937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most important mechanism of concurrent acquisition of multidrug resistance among bacteria is:

Options:



1 % mutation

-  Conjugation

% % transduction

4 % transformation
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Question Number : 124 Question Id : 9662315938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is Phase 4 clinical trials also called?
Options:

, » Human pharmacology and safety

-  Post marketing surveillance

s % Therapeutic exploration and dose ranging

4 = Therapeutic confirmation

Question Number : 124 Question Id : 9662315938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 125 Question Id : 9662315939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For therapeutic use, growth hormones are obtained from:

Options:
, « recombinant DNA technique

> w human cadaver pituitaries

5 # porcine pituitaries

4 # chemical synthesis

Question Number : 125 Question Id : 9662315939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 126 Question 1d : 9662315940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Oswald Schmiedeberg is known as the

Options:
1 % Father of Medicine

- u Father of Pharmacognosy

- # Father of Polypharmacy

4 « Father of Pharmacology

Question Number : 126 Question Id : 9662315940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Volatile drugs may be best administered by

Options:
1 #% oral route

> « inhalation

- = sublingual route

4 % intrathecal route
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Question Number : 128 Question Id : 9662315942 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How is Body Mass Index calculated?

Options:

, # Weight in pounds divided by height in meters

» w Weight in kilograms divided by height in meters

C . . " " . . &
5  Weight in kilograms divided by height in meters~

4 = Weight in kilograms divided by body surface area
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Single Line Question Option : No Option Orientation : Vertical
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: Yes Display Question Number : Yes



is the most important intracellular anion.
Options:
, « FPhosphate

- % Protein
% % Chloride

4 % Bicarbonate

Question Number : 129 Question Id : 9662315943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gap junctions are made up of a protein called

Options:
1 « connexin

> % clathrin
%z % catherin

4 % calcineurin
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662315945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is INCORRECT about neutrophil granulocytes?
Options:

, = They are the most common leukocyte in normal blood.

- = They contain proteolytic enzymes.

5 « They have a lifespan of 3—4 weeks.

4 = They contain actin and myosin microfilaments.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662315946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Nernst potential is positive for:

Options:



1 % NaandCl
> % Naand K
= « Naand Ca

4 % KandCl

Question Number : 132 Question Id : 9662315946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 9662315947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is correct about normal blood clotting requirement?

Options:
| % Inactivation of heparin

- % Inactivation of plasmin (fibrinolysin)

5 « Calcium ions

4 # Anadequate intake of vitamin C

Question Number : 133 Question Id : 9662315947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 9662315948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rigor mortis is due to:

Options:
; = damage to actin and myosin

> % rapid sequestration of calcium in ER

5 » increased myosin ATPase

4 « ATP depletion

Question Number : 134 Question Id : 9662315948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 9662315949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following is sympathetic drive to the heart NOT increased?

Options:



1 % Inexercise
- % In excitement

- % Inhypotension

4 « When parasympathetic drive is decreased

Question Number : 135 Question Id : 9662315949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 9662315950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following protein is absent from smooth muscle?
Options:

1 % Actin

> % Myosin

=  lroponin

4 % Tropomyosin

Question Number : 136 Question Id : 9662315950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 9662315951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which phase of the cell cycle is Barr body found?
Options:

, « Interphase

> w Metaphase

5 = Glphase

4 w Ielophase

Question Number : 137 Question Id : 9662315951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A single sensory axon and all of its peripheral branches constitute

Options:



; w leceptive field

5 of Sesory units

3 % dermatome

4 % SENSOry nerves

Question Number : 138 Question Id : 9662315952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 139 Question Id : 9662315953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is least absorbed in tubules?

Options:
1 % Sodium

- #% Urea
3 o Creatinine

4 % Glucose

Question Number : 139 Question Id : 9662315953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 140 Question Id : 9662315954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pulmonary surfactant increases:

Options:
, % the surface tension of the fluid lining alveolar walls.

- « lung compliance

- » i0effectiveness as the lungs are inflated

4 % inamount when pulmonary blood flow is interrupted

Question Number : 140 Question Id : 9662315954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question 1d : 9662315955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The commonest cell type in the anterior pituitary is:
Options:

|  somatotroph

- = lactotroph

5 w corticotroph

4 = thyrotroph

Question Number : 141 Question 1d : 9662315955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 9662315956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Synaptic potentials can be recorded by:
Options:

, w Dpatch clamp technique

- % Voltage clamp technique

3 « microelectrode

4 % EEG
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The satiety producing hormone is:
Options:

1 % orexin



> % resistin

- » adiponectin

4  leptin
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Question Number : 144 Question Id : 9662315958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

is the most abundant bile acid.
Options:
1 « Cholic acid

> % Chenodeoxycholic acid

5 w Deoxycholic acid

4 % Lithocholic acid

Question Number : 144 Question Id : 9662315958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 145 Question Id : 9662315959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following situations does the secretion of saliva NOT increase?
Options:

, = Touch receptors in the mouth are stimulated.

-~ % The mouth is flushed with acid fluids with a pH of about 4.

5  Asubject thinks of unappetizing food.

4 = Vvomiting is imminent.

Question Number : 145 Question Id : 9662315959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question 1d : 9662315960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABO antigens not found in:

Options:
1« CSF



5 #% semen
- ® sweat

4 % saliva
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question 1d : 9662315961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first step in the extrinsic coagulatory pathway is:

Options:
1 % activation of factor X

> % activation of factor XII

5 » conversion of prothrombin to thrombin

4 « release of tissue thromboplastin

Question Number : 147 Question Id : 9662315961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 9662315962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Most of the iron in the body is present in:

Options:
, « haemoglobin

> w myoglobin

= % ferritin

4 % transferrin

Question Number : 148 Question 1d : 9662315962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 9662315963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following situations does oxvgen consumption NOT increase?
Options:

1 « When metabolic rate falls

> = When body temperature rises



= w When environmental temperature falls

4 = After a meal is ingested

Question Number : 149 Question Id : 9662315963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 9662315964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the receptor which itself is a dendrite of a nerve.

Options:
, « Olfactory

5 % Gustatory

= # Visual

4 w Hearing

Question Number : 150 Question Id : 9662315964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 9662315965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Amacrine cells are found in the:
Options:

1 « retina

- % skin in the axilia
3 % inner air

4 % blood
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Question Number : 152 Question Id : 9662315966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The stopcocks of circulation are:

Options:
1 « arterioles

> u capillaries

z % valves



4 % venules

Question Number : 152 Question Id : 9662315966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 9662315967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used for measurement of specific gravity and protein determination?

Options:
1 « Handheld refractometer

- % Dynamometer

=z % Oximeter

, % Haemocytometer

Question Number : 153 Question Id : 9662315967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question 1d : 9662315968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT the name of a catheter?

Options:
| % Fogarty

- % Malecot’s
Foley’s

4 « Deaver’s
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Question Number : 155 Question Id : 9662315969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used for feeding and aspiration?

Options:
, « Ryle’stube

- » Sengstaken Blakemore tube

=z # Deaver’s tube



4 w Foley’s tube
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 9662315970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which material is treated with an electrochemical process called anodization?
Options:

1 % Stainless steel

> o Aluminium
% % Titanium

4 = Tungsten carbide
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Question Number : 157 Question Id : 9662315971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following instruments is used for viewing?

Options:
1 % Hemostats

5  Speculum

5 = Ryle’s tube

4 # Skin hook

Question Number : 157 Question Id : 9662315971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 158 Question Id : 9662315972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Modern surgical instruments are made of:

Options:
1 % bronze

> o stainless steel



z % wood

4 % aluminium

Question Number : 158 Question Id : 9662315972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 9662315973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following elements is added to make stainless steel harder?

Options:
1 % Aluminium

> % Iron
3 o Carbon

4 % Manganese

Question Number : 159 Question 1d : 9662315973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 160 Question Id : 9662315974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT classified under surgical instruments?
Options:

, « Sliding

» u Cutting

5 # Grasping

4 = Dilating

Question Number : 160 Question Id : 9662315974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Disciplined

Group Number : 9

Group Id: 96623192
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline
Section Id : 966231207
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231221
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9662315975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In gold plating on a surgical instrument, which of the following is incorporated during the manufacturing process?
Options:
, « Tungsten carbide

> % Chromium
z % Aluminium

4 % Carbon

Question Number : 161 Question Id : 9662315975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 9662315976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following gases is pushed by insufflators?

Options:
1 % Argon

> % AIr
z « Carbon dioxide

4 % Nitrous oxide

Question Number : 162 Question Id : 9662315976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 9662315977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following catheters is used to drain urine?

Options:
| % Fogarty’s
- % Malecot’s

5 o Foley’s

4 % Hickman’s



Question Number : 163 Question 1d : 9662315977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 164 Question Id : 9662315978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following retractors is used to retract the abdominal wall?

Options:
1 « Morris

> % Deaver’s

5 = Langenbeck

4 % CatPaw

Question Number : 164 Question Id : 9662315978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662315979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following forceps is used to hold tissues softly?

Options:
1 % Allis

> o Babcock
3 % Kocher

4 % Irwin

Question Number : 165 Question Id : 9662315979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 166 Question 1d : 9662315980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following speciality scopes is used for visualization of the heart and major vessels?
Options:

, = Fetoscope

-  Angioscope

5 % Ureteroscope

4 = Choledochoscope

Question Number : 166 Question Id : 9662315980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 167 Question Id : 9662315981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT used to charge power tools?
Options:

1 % Batteries

~ « Carbon dioxide

5 u Electricity

4 = Nitrogen

Question Number : 167 Question Id : 9662315981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fastelr 39eoT (TR TEw) F SR (T == F v Rt & 8 e 3w 5 G s 2
Options:

1 = aai

. » PES SEHTFHES
L w TasToll (SHfeFefad)
4-&»@”_{@;'?{

Question Number : 168 Question Id : 9662315982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which of the following are accessory instruments?

Options:
1 % Knives

- « Ring forceps

5 = Scalpels

4 w Tlissue forceps

Question Number : 168 Question Id : 9662315982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 9662315983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the father of antiseptic surgery?

Options:
, « Joseph Lister

> % John Tyndall

= % Louis Pasteur

4 % Robert Koch

Question Number : 169 Question Id ;: 9662315983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 9662315984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the chemical name of povidone-iodine?

Options:
; = Dodesept

> % Dettol
3 « Betadine

4 = Sporicidin

Question Number : 170 Question Id : 9662315984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question 1d : 9662315985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following machines use temperature and pressure for disinfection?



Options:
1 « Autoclave

> % Laminar Airflow
= ®% Oven

4 % Water Jet

Question Number : 171 Question Id : 9662315985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 9662315986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bacillus stearothermophilus has a D-value of:
Options:

1 « 2 minutes at 250

e

F

o
i

- % 2 minutes at 200
2 % 5 minutesat 250 °F

4 % 10 minutes at 250 °F

Question Number : 172 Question Id : 9662315986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 173 Question Id : 9662315987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Packaged surgical supplies and drugs are sterilized by:

Options:
1 « electron-beam radiation

ganmuna rays

% # ultrasonic waves

UV rays

Question Number : 173 Question 1d : 9662315987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question 1d : 9662315988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For sterile storage, the relative humidity should NOT exceed:

Options:



| ® 60%

e 70%0

Question Number : 174 Question 1d : 9662315988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 60%
> ¢ 70%
- = 30%

. % 50%

Question Number : 175 Question 1d : 9662315989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A commercially prepared glutaraldehvde disinfectant used routinely for cold surface sterilization of clinical instruments
is:

Options:

1 #% chloramine-T

-~ » betadyne

3 o cidex

4 = zephirin

Question Number : 175 Question Id : 9662315989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 176 Question Id : 9662315990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most suitable method for sterilization of sharp instruments is:

Options:
, = autoclaving

boiling
o 2025 Inr [
5 20 % lysol treatment

tvndaalisation

Question Number : 176 Question Id : 9662315990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 9662315991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In how many classes have chemical indicators been grouped based on their ability to monitor one or multiple
sterilization parameters?

Options:



1 « Five classes
- % Four classes
= % Three classes

4 % Two classes

Question Number : 177 Question Id : 9662315991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 178 Question Id : 9662315992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is found on bandages that are applied on wounds?

Options:
1 % Formalin

- % lodine/silver nitrate
= « Benzalkonium chloride

4 = Crystal violet

Question Number : 178 Question Id : 9662315992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1.£q$|ﬁ%?
., x AT Agee

. deSAHIOAA FANSS

[ et
4 % TehEco dTHeIC

Question Number : 179 Question Id ;: 9662315993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The spores of which of the following organisms is used to test disinfectants?
Options:

1 % Clostridium

» = . stearothermophilus

= « Bacillus anthracis

4 % Bacillus subtilis

Question Number : 179 Question Id : 9662315993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W(mgmjﬁﬁm#ﬁvmﬁ#ﬁmm(ﬁﬁﬁmmm%mm

Options:

|« TR
O e
. dfew SR

, « e R

Question Number : 180 Question Id : 9662315994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT used to evaluate the respiratory status and the severity of several pulmonary conditions?

Options:



, » Capnography
» Electromyography
¢ Pulse oximetry

4 % Spirometry

Question Number : 180 Question Id : 9662315994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Disciplines
Group Number : 10
Group Id: 96623193
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 966231208
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231222
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662315995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cholelithiasis is another name for:
Options:

, « gallstones

> % renal stones
- % tonsil stones

4 % [JJ.’DSi'ﬂ'[E stones

Question Number : 181 Question Id : 9662315995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 9662315996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is correct with regards to hereditary pancreatitis?
Options:

1 % Autosomal recessive disorder



- « Has 80% penefrance

5 % Accounts for about 30% of cases of chronic pancreatitis

4 = 12G4 concentrations are elevated

Question Number : 182 Question 1d : 9662315996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 9662315997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Ranson and Glasgow scoring systems is used to predict the severity of:
Options:

; = hepatitis

-  acute pancreatitis

5 w Dephritis

4 # Aappendicitis

Question Number : 183 Question Id : 9662315997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 9662315998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used to evaluate the spine for patients with neck, back, or leg pain?

Options:
, = Angiography
Mammography

5 « Myelography

Cholangiography

o
%

Question Number : 184 Question Id : 9662315998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 185 Question Id : 9662315999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The content of which of the following elements determines the radiodensity of contrast material?

Options:



1 « lodine
- #% Chlorine
= % Carbon

4 s Nitrogen

Question Number : 185 Question Id : 9662315999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 186 Question Id : 9662316000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the best method for detecting muscle hernias?

Options:
1 ® MRI

- u Computed tomography

= « Ultrasound

4 # Radiographs

Question Number : 186 Question Id : 9662316000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 187 Question Id : 9662316001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most useful test when bowel ischaemia or infarction is suspected is:

Options:
1 « CT scan

~ % ultrasound
s % MRI

4 % X-ray

Question Number : 187 Question Id : 9662316001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T TR REadT a7 TUTel (S1el STERTHAT AT SHRRAA) T Hig 2T ¢, af I§H §ed 394
TNeTOT FAT E 2

Options:
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Question Number : 188 Question Id : 9662316002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In hospital emergency codes, what does grey colour indicate?
Options:

1 % Fire



- % Heart or respiratory arrest

= % Infant and child abduction

4 « Acombative person

Question Number : 188 Question Id : 9662316002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 189 Question Id : 9662316003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sterile technique is essential during catheter insertion to prevent which of the following major nosocomial infection?
Options:

, « Urinary tract infections

> % Blood infections

- % Septicaemia

4 # Urethral injury

Question Number : 189 Question Id ;: 9662316003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 9662316004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To help reduce the pumber of medication errors all caregivers should be aware of the numbers of ‘right’ nurses use
when they administer drugs?

Options:

1_@”52

n

4 o

Question Number : 190 Question Id : 9662316004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 191 Question Id : 9662316005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the order of removing the protective equipment after treating a patient in protective isolation?

Options:



, « Gloves, goggles, gown, mask

» = Mask, gloves, goggles, gown

= » Gown.mask, gloves, goggles

4 = Goggles. gown, mask, gloves

Question Number : 191 Question Id ;: 9662316005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 9662316006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the most commonly used thermal haemostatic device?

Options:
, = Bipolar cautery

-  Electrocautery

= % Lasers

4 ® Tourniquets

Question Number : 192 Question Id : 9662316006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 9662316007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which position is ideal for catheterization of a male patient?

Options:
; = Trendelenburg position

> w Reverse Trendelenburg position

5 = Fowler’s position and sitting position

4 « Supine position

Question Number : 193 Question Id : 9662316007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 9662316008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the most natural position for a body at rest?
Options:

, = Trendelenburg position

- u Reverse Trendelenburg position

- # Fowler’s position and sitting position

4 « Supine Position

Question Number : 194 Question Id : 9662316008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662316009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT a common nursing medication error?
Options:

, % Wrong dose

-  Wrong order

2 % Wrong rate

4 % wrong time



Question Number : 195 Question Id : 9662316009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 9662316010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a phase of POMR (Problem-Oriented Medical Record)?
Options:

1 % Formation of a database

- u Development of a current problem list

- » ldentification of a specific treatment plan

4 « Assessment of the operation theatre

Question Number : 196 Question Id : 9662316010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 9662316011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In which format is the information about a patient and the plan of care contained in the status notes written?

Options:

1 o Subjective, Objective, Assessment and Plan (SOAP)
5 R Objective, Subjective. Plan and Assessment (OSPA)
5 % Plan, Objective, Assessment and Subjective (POAS)
4 B Objective, Subjective, Assessment and Plan (OSAP)

Question Number : 197 Question Id : 9662316011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 9662316012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the first-line drug in the treatment of a severe anaphylactic reaction?
Options:

1 % Steroids

- % Intravenous fluids and plasma

-  Epinephrine

4 # Levophed

Question Number : 198 Question Id : 9662316012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 9662316013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the number of elements in a cycle of infection?

Options:

I

Question Number : 199 Question Id : 9662316013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HHAUT & IF H dcal =T G&IT F4T 87

Options:

1_-5-562
2.-5-:34
3¢ 6

4 % 8

Question Number : 200 Question Id : 9662316014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the most common method of transmission of pathogens?

Options:



, w Moisture droplets

~ « Direct contact
3 % Alr currents

4 = Contaminated linen or clothing

Question Number : 200 Question Id : 9662316014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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